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EXERCISE # 1
Q.l   
  (i)   
  (ii)  
  (iii) P  
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Q.2    
  (i)   
  (ii)  
  (iii) P  
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Q.3   
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Q.4    
  (i)   
  (ii)  
  (iii) P  
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Q.5   
  (i)   
  (ii)  
  (iii) P, Q, R S  

 Y 

X' X 

Y ' 

5 3 

7 
8
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S 

O 
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Q.6  X- Y-  

A (3, 9), B (4, – 7), C (–8, 9), D (– 3, – 5),  
E (4, – 2)  F (7, 5)  

 
Q.7  PQR 
  P = (1, – 6), Q = (7, 4)  R = (– 4, 4)  
 
Q.8  ABC A, B  C 

(– 3, 0), (3, 3)  (– 3, 3)  
 
Q.9  ABCD A, B, C  

D (4, 3), (4, – 2), (– 7, – 2)  (– 7, 3)   
 
Q.10 KLMN K, L, 

M  N (5, 0), (5, 3), (0, 3)   
(0, 0).
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Q.11 ABCD A, B, C 

D (1, 2,)  (– 7, 2),  (– 7, – 6)   
(1, – 6)  

 
Q.12 PQRS A, B, C 

D P, Q, R  S (0, 0),  
(– 4,  0),  (– 4 , – 4) (0, – 4) 

 
Q.13 ABCD 

A, B, C D (– 4, 8),  (– 4, 2),   
(6, – 7)  (6, – 1)  

 
Q.14 PQRS P, 

Q, R  S (3, 0), (7, 9), (– 6, 9)   
(– 2, 0)   

 
Q.15 ABCD A,B,C 

D (1, 4·5), (– 1, 0) (1, – 4·5)   
(3, 0) 

 
Q.16 :  
  (i) (– 6, 7)  (– 1, – 5)  
  (ii) (a + b, b + c)  (a – b, c – b)  
  (iii) (a sin , – b cos )  (– a cos , b sin )  
  (iv) (a, 0)  (0, b) 
 
Q.17 a (3, a)   

(4, 1) 10   
 
Q.18  (5, 9) (–4, 6) x-

   
 
Q.19  (– 2, 5), (0, 1)   

(2, – 3)  
 

Q.20  (a + b, a – b), 
(2a + b, 2a – b), (a – b, a + b) 

 
 
Q.21  

(1, 1), (2, – 3)  (3, 4) , 
 

 
Q.22  

: 
  (i) (1, 4), (– 1, –1), (3, – 2)  
  (ii) (– 2, 3), (2, –1), (4, 0)  
 
Q.23  (1, 2), (3, 5) 

 
 
Q.24  (– 2, 3), (4, – 3)  (4, 5) 

 
 
Q.25  

 
  (i) (6, 3), (– 3, 5)  (4, – 2) 
  (ii) (at 21 , 2at1), (at 22 , 2at2)  (at 23 , 2at3) 
  (iii) (a, c + a), (a, c)  (– a, c – a)   
 
Q.26  ABCD ( 2a) 

 
 D C 

A B   

  (i) AB  AD ,   
  (ii) AB, AD 
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Q.27  (– 4, – 1), (– 2, – 4),  

(4, 0) (2, 3)  
 
Q.28  A (1, – 2), B (3, 6),  

C (5, 10)  D (3, 2) 

 
Q.29  A (0, 1), B (1, 4), C (4, 3) 

D (3, 0)  
 
Q.30  (3, 0), (6, 4)  (–1, 3) 

 
 
Q.31  (2, – 2), (– 2, 1)  (5, 2) 

 
 
Q.32  (2a, 4a), (2a, 6a)   

(2a + 3 a, 5a)  
 
Q.33  (2, 3), (– 4, – 6)  

(1, 3/2)  
 
Q.34  (3, 4)  (– 2, 3) 

;  
 
Q.35  (2, –1),  

(3, 4), (– 2, 3)  (– 3, – 2) 
 

 
Q.36  (2, 0)  (2, 5) 

3  
 
Q.37  k P(0, 2); 

(3, k)  (k, 5)  
 

Q.38  (– 1, 3), 
 (4, – 7) 3 : 4 

 
 
Q.39  

: 
  (i) (5, – 6)  (– 7, 5)  
  (ii) (3, – 2)  (– 3, – 4) 
  (iii) (1, 2)  (11, 9). 
 
Q.40 (–2, –1), 

(1, 0)  (4, 3)  
 
Q.41 A (–1, 3), B (1, –1)  C (5, 1) 

ABC A 
 

 
Q.42 

(1, 1), (2, –3)  (3, 4) , 
 

 
Q.43 (3, 4) (k, 7) 

(x, y) 2x + 2y + 1 = 0 k 
 

 
Q.44 (3, –1) (8, 9) 

 x – y – 2 = 0 
?  

 
Q.45 (4, 3), (6, 4), (5, 6)  (3, 5) 

 
 
Q.46 A (–4, 3) B(2, 8) 

P (m, 6) m 
 

 



    
 
 

Power by: VISIONet Info Solution Pvt. Ltd Website : www.edubull.com Mob no. : +91-9350679141   

Edubull

Q.47 A (–3, 1) B (–8, 9) 
(– 6, a) a 

 
 
Q.48 

 
  (i) (– 3, 2), (5, 4), (7, – 6)  (– 5, – 4) 
  (ii) (1, 2) , (6, 2), (5, 3)  (3, 4) 
 

Q.49 (1, 2),  
(–5, 6), (7, –4) (k, –2) 

k 

 
Q.50 

 
  (i) (2, 5), (4, 6)  (8, 8) 
  (ii) (1, –1), (2, 1)  (4, 5) 
 
Q.51 (a, 0), (0, b)  (1, 1) 

, a
1  + b

1  = 1.  
 
Q.52 (3, –2), (4, 0), (6, –3)   

(5, –5)  
 
Q.53 (5, – 8), (2, – 9)  (2, 1) 

 
 
Q.54 A (5, 6), B (1, 5), C (2, 1) 

D (6, 2)  
 
Q.55 x PQ = QR P, Q 

R (6, – 1), (1, 3)   
(x, 8)  

 
Q.56 (0, 0), (5, 5)  (– 5, 5) 

 
 
Q.57 (6, –6), (3, –7)  (3, 3) 

 
 
Q.58 (–1, 2) (3, 2) , 

 
 
Q.59 5 (2, 1) 

(3, –2) y = x + 3 
 

 
Q.60 a  b  c , (a, a2), 

(b, b2), (c, c2)  
 
Q.61 A (6, 3), B (– 3, 5), C (4, – 2), 

D (x, 3x) ABC
DBC


  = 2

1  
x  

 
Q.62 a (a, 1), (1, – 1)  

(11, 4)   
 
Q.63 (a, b), (a1, b1)   

(a – a1, b – b1) ab1 = a1b  
 
Q.64 (x1, y1), (x2, y2), (x3, y3) 

- 
  

32
32

xx
yy   + 

13
13

xx
yy   + 

21
21

xx
yy   = 0.    
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ANSWER KEY       
 
1. (i) 2   (ii) 5  (iii) (2, 5)    2. (i) –5  (ii) 2  (iii) (–5, 2) 
3. (i) –4  (ii) –3  (iii) (–4, –3)    4. (i) 6   (ii) –3  (iii) (6, –3) 
5. (i) 1, –3, –8, 8   (ii) 3, 5, –5, –7 (iii) P(1, 3), Q (–3, 5), R(–8, –5), S(8, –7) 
6.   

2   4   6   8 –8 –6 –4 –2 –2
–4
–6
–8 

D  E

F 

A C 
B 2

4
6 
8 
10 
12  

 
 
16. (i) 13      (ii) 2b 2   (iii) 22 ba  (sin + cos)  (iv) 22 ba     
 
17. 4, –2  18. (3, 0)  20. (–b, b)  21. (2, 10), (0, – 4), (4, 2)  22. (i) (1,1/3), (4/3, 2/3) 
 

23.  (–4, –7)   24. (2, 5/3)  25.  (i) 49/2 sq. units   (ii) a2 (t1 – t2) (t2 – t3) (t1 – t3)  (iii) a2  
 
26.  (i) A(0, 0), B(2a, 0), C (2a, 2a), D (0, 2a)   (ii) A (–a, –a), B(a, – a), C(a, a), D(–a, a) 
34.  



 

2
357,2

31 , 



 

2
357,2

31     36. 



  2

5,2
112 , 



  2

5,2
112     

37.  1  38. (8/7, –9/7) & (–16, 33) 
39. (i) (1, –7/3), (–3, 4/3)  (ii) (1, –8/3), (–1, –10/3)  (iii)(13/3,13/3), (23/3, 20/3) 
40.  (1, 2)  41.  5 42. (4, 0), (2, 8), (0, –6)  43.  k = – 15   
44.  2 : 3 Internally   46.  3 : 2, m = – 2/5   47. 3 : 2, a = 29/5  
48.  (i) 80 sq. units (ii) 11/2 sq. units     49.  k = 3  
53.  (2, –4)    55. 5, –3     57. (3 , –2)   
58.   (1, 0) and (1, 4)  59.  (7/2, 13/2) or (–3/2, 3/2) 61.  11/8  62. a = 5  
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EXERCISE # 2       

 
Q.1 (cos, sin)  (sin, – cos) 

 
 
Q.2 (a cos 35º, 0)  (0, a cos 65º) 

 
 
Q.3 (a cos  + b sin , 0)   
 (0, a sin  – b cos )   
 
Q.4 (4, p) (1, 0) 5 , 

p   
 
Q.5 10 

(2, –3) 
10 , 

 
Q.6 (0, 0), (1, 0)  (0, 1) 

 
 
Q.7 A (2, 2), B (–4, –4)  C(5, –8) 

; C 
 

 
Q.8 (0, 0) (3, 3 )  (3, ) 

  
 
Q.9 (k, 2k), (3k, 3k)  (3, 1) 

k  
 
Q.10 x-

(–3, 4)  (2, 5)  
 
Q.11 (–2, –1), (a, 0), (4, b)  (1, 2) 

a b 
 

 

Q.12 A (5, 3), B (11, –5)  P (12, y) 
P 

y  
 

Q.13 (a, b + c), (b, c + a) (c, a + b) 
 

 
Q.14 (x, 2), (–3, –4)  (7, –5) x 

 
 
Q.15 (t, 2t), (–2, 6)  (3, 1) 

t  
 
Q.16 (x, 2x), (–2, 6)  (3, 1) 

5 x 
 

 
Q.17 (a, 0), (0, b)  (1, 1) 

ba
11    

 
Q.18 (1, 4) 

(4, –3) (–9, 7) 
 

 
Q.19 (–3, –4) (1, –2) 

y-
 

 
Q.20 (2, 3) (7, 8) (4, 5) 

 
 
Q.21 (3, 6) (12, –3) 

x-  
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Q.22 (a, b), (b, c) (c, a) 
a3 + b3 + c3 

 
 
Q.23 (7, x), (y, –6) (9, 10) 

(6, 3) (x, y)  
 
Q.24 A(4, –5) B(4, 5) 

P 
AP : AB = 2 : 5 P  

 
Q.25 A(–3, 1) B(5, –4) 

C C 
 

 
Q.26 (a, 2) (3, 6) 

 (2, b) a b  
 
Q.27 (2a, 4)  (–2, 3b) 

(1, 2a + 1) a b  
 
Q.28 (2, –3) 

(1, 4)  
 
Q.29 P(–4, 1) A (2, –2) B 

3 : 5 
B  

 
Q.30 A(1, 1)  B(–2, 3) AB 

C 
AC = 3AB C  

 
Q.31 A(–6, 10) B(3, –8) 

(–4, 6) 
? 

 

Q.32 A 


 3
5,1   B (a, 5) 
1 : 3 P 

AB; y-
 

 (i) a  
 (ii) P . 
 
 
 
Q.33 (5, – 6,) (– 1, – 4) 

y-

 
 
Q.34 A(6, 5) B(4, –3) ;  

y = 2 
 

 
Q.35 2x + y – 4 = 0 

A(2, –2) B(3, 7) 

 
 
Q.36 A(10, 5), B(6, –3)  C(2, 1) ABC 

L; AB M; AC 
L M 

LM = 2
1 BC. 

 
Q.37 

(–1, 4)  (5, 2) 
(0, 3)  

 
Q.38 , P(–2, 3) AB 

A B  
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 Y
B 

XOA

P

 
 
 
 
 
 

 
 
Q.39 A(x1, y1), B(x2, y2) 

C(x3, y3) ABC  
 


 

3
yyy,3

xxx 321321   
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ANSWER KEY       
1. 2   2. a  3. 22 ba    4. ±4  5. (3, –9)  6. 22   

7. 85  9. 3
1   11. a = –2, b = 6,  

12. 2, –4 13. 0  14. –63  15. 3
4   16. 3

2    17. 1 

18. 2
183  19. 3 : 1  20. 2 : 3   21. 2 : 1  22.3abc   23. (5, 2) 

24. (4, –1) 25. 


  2
3,1  26. a = 1, b = 4  27. a = 2, b = 2 

28. (3, –10) 29. (–14, 6) 30. (–8, 7)  31. 2 : 7 

32. (i) 3  (ii) 



2
5,0   33. 5 : 1, 


  3

13,0  34. 3 : 5 ; 


 2,4
21  

35. 2 : 9, 


 11
4,11

24   37. (–5, 4)  or   (1, 2) 38. A(–4, 0), B(0, 6) 

 
 




